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Q.09 To verify Ohm’s law, a st\l&t&egtu is provided with

a test resister Rr, a high resis nce Ry, and a small
resistance Rz, two identical galvanometers G .B-nd. Ga,
and a variable voltage source V. The correct circuit to

carry out the experiment is (2010)
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Sol. To verify Ohm'’s law, we need to measure the volt-
age across the test resistance Rt and current pass?ng
through it. The voltage can be measured by connecting
a high resistance R; in series with galvanometer. This
combination becomes a voltmeter and should be con-
nected in parallel to Rr. The current can be measured
by connecting a low resistance R; (shunt) in parallel
with galvanometer. This combination becomes an am-
meter and should be connected in series to measure the
current through Rr.
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